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QUESTION 1

The primary and secondary clusters are fully configured. You want to set up an inter-cluster SnapMirror relationship.
Which two actions are prerequisite to accomplishing thistask?

(Choose two.)

A. The SVMs must be peered.

B. The primary and secondary clusters must be peered.
C. The Snapshot schedule must be configured.

D. NDMP must be enabled.

Correct Answer: AC

QUESTION 2

A customer wants to convert some SnapMirror relationships to SnapVault relationships. How would this be
accomplished without creating a new baseline?

Response:

A. Break and delete the relationship followed by SnapMirror resync.

B. Break the relationship followed by SnapMirror delete.

C. Break and delete the relationship followed by SnapMirror resync with relationship type XDP.
D. Break the relationship followed by SnapMirror modify.

Correct Answer: D

QUESTION 3

Management wants the ability totransfer more data over a low bandwidth network connection. Which action would
satisfy the request?

A. Enable version flexible replication with a SnapMirror policy.
B. Enable network compression with a SnapMirror policy.

C. Disable throttle with a SnapMirror policy.

D. Modify the SnapMirror schedules.

Correct Answer: B
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QUESTION 4

An administrator wants to use SnapCenter 4.1 to back up and restore both their VMware Horizon environment and
Microsoft SQL attached database.

In this scenario, which service account role should be configured to accomplish this task?
A. sysadmin

B. operator

C. backup

D. administrator

Correct Answer: D

QUESTION 5

You areusing SnapLock for SnapVault to protect Snapshot copies on secondary storage. In ONTAP 9.3, which source
aggregate feature is supported in this scenario?

A. SnapLock Enterprise
B. SnapLock Compliance
C. 32 bit

D. RAID-TEC

Correct Answer: D

QUESTION 6

Your disaster recovery strategy requires a mirror, an archive, and a tape backup. Which software would you recommend
for this scenario?

A. OnCommand System Manager

B. OnCommand Workflow Automation
C. SnapProtect

D. OnCommand Unified Manager

Correct Answer: C

QUESTION 7

A customer wants to set up SNMP to monitor their ONTAP platforms. Because of security reasons, they need strong
authentication and data encryption?
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In this scenario, which SNMP version satisfies these requirements?
A.vl

B. v3

C.v2

D. v2c

Correct Answer: B

QUESTION 8

In clustered Data ONTAP, you are creating MirrorAndVault XDP relationships between existing primary and secondary
volumes. The Snapshot copy policies have already been created and assigned.

The peering is already established and functional. In clustered Data ONTAP, which three actions should be taken?
(Choose three.)

A. Add the inter-cluster LIF to the broadcast domain.

B. Create and initialize the SnapMirrorrelationship.

C. Set up the retention on the secondary volume.

D. Create the intercluster LIFs.

E. Create the transfer policy.

Correct Answer: BCE

QUESTION 9

Your customer wants to replicate data between two NetApp clusters in different data centers. Which two actions must
be performed to accomplish this task?

(Choose two.)

A. A peer relationship must be created between the two clusters.

B. One inter-cluster LIF on each node must be configured.

C. Every controller inboth clusters must have at least one inter-cluster LIF configured.
D. Every inter-cluster LIF must be configured on the same port with a data LIF.

Correct Answer: AB

QUESTION 10
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Which three cascaded relationship types are supported? (Choose three.)
A. SnapVault from SnapMirror

B. SnapMirror from SnapMirror

C. SnapMirror from SnapVault

D. SnapVault from SnapVault

Correct Answer: ABC

QUESTION 11

A storage administrator is reviewing NAS volume space allocation and is concerned that the Snapshot copies that are
recently created to protect the volumes are not storing the data from the volumes. One volume contains over 20 GB of
data, although the latest SnapShot copy contains only 198 KB of data.

In this scenario, which statement is true?

A. ONTAP references metadata when creating Snapshot copies instead of copying data blocks.

B. The Snapshot policy is defined to create the Snapshot copy with only the most recent data changes.

C. ONTAP uses data from all Snapshot copies when restoring of the volume is necessary.

D. The Snapshot copies are created by using a background process that takes time to build.

Correct Answer: A

QUESTION 12

You want to set up protection relationships at the time of provisioning one or more primary volumes in the source cluster
in ONTAP.

Which NetApp management tool enables you to accomplish this task?
A. ONTAPCLI

B. SnapCenter

C. OnCommand System Manager

D. OnCommand Unified Manager

Correct Answer: C

QUESTION 13

Which product delivers application-consistent recovery across local and remote sites?
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A. SnapCenter

B. OnCommand Unified Manager
C. OnCommand System Manager
D. SnapDrive

Correct Answer: D

QUESTION 14

A customer wants to monitor the current utilization of storage capacity to ensure storage availability. They decide to
implement quotas on some volumes.

What are threetypes of quotas that would satisfy the customer\\'s requirement? (Choose three.)
A. user

B. aggregate

C. group

D. volume

E. gtree

Correct Answer: ACE

QUESTION 15
Click the Exhibit button.

Destination Yolume

?) Cluster cluster-1 v
Storage Wirtual Machine VSﬂI peered] Browse... | (2
L & pow volume  Select Volume
Walurme name AgEregate
svmi_vol_2_wvault aggri Browse
#| Enable dedupe T0.13 GB available (of 70.14GE)

An employee\\'s computer and mapped home folder has been encrypted with ransomware. You are asked to restore the
data from a SnapVault repository.

Referring to the exhibit, what happens when the volume is restored?
A. All files in the volume are restored.

B. The restore is performed locally.
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C. The original data is decrypted in place.

D. Only files that have changed in the volume are restored.

Correct Answer: A
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